Lesson 2 - Adding and Subtracting Integers
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Lesson 2 - Adding and Subtracting Integers
4 N\
Goals: Warm — up: Can you remember how to add 5 + (-3)?
- Add integers
- Subtract integers Z @
\ /

Adding two positive integers:
To add two positive integers, add their numerical values. The result is positive.

Ex: Use a number line to show the sum of 5 and +4, then show it numerically:

S + (+4)=+9
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Adding two negative integers:

To add two negative integers, add their numerical values. The result is negative.

Ex: Use a number line to show the sum of (-3) and (-4), then show it numerically: ( 3 ) r (’ HB _ _?
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Adding a positive and negative integer: svdves’
To add a positive and negative integer, find the difference of their numerical values.
A ————

If the number with the Iarger numerical value is positive, the result is positive.
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¥ If the number with the larger numerical value is negative, the result is negative.

Ex: Use a number line to show the sum of (+5) and (-4) two different ways, then show it numerically:

(5)+ =) =+ |
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) +(+3) = | ot
Ex: Use a number line to show the sum of (-7) and 5. Then show it numerically. ‘L}\> 4—$5 _ z
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Subtracting Integers
Complete the following table, describe any patterns:

4-2= 2

4-1= 3 O
4-9- L' L AV N R
4-(1)= § — T

4-(2)=

When we subtract integers using a number line, we go thek)pposite way of that we would go using

integer addition:

Ex:
3-(+2)=
/-5-4-3-2-1012345 5 4 3 2 1 0 1 2 3 4 5
Try the table below and compare the results to the table abi §a 0 \
\/ 3+(2)= | vs | 3-(2)=
1 -
5 4 -3 2101 2 8 4 5 -5-4-3-2-1012[345

This translates to adding the opposite integer, when we subtract integers numerically, as we can see with the
relationship abové.

» Turn all the integer subtraction into integer addition by changing the second number to its integer opposite

and adding it.

Ex:

5;(-12]= 5 -]-(—H’Z): 1:?' 10%(*22>= [0-}-(-—22): -]2

8-(+32)= -8+ (22)==H0 (- (<3 +623) = + )0
.t 1 = 1

ASSIGNMENT — NO CALCULATORS =

Level 1:
1. Use the number lines to help with the following problems:

a. 5+(-3)= Z-_ —t ',:::::<::!

8 -7 6 5 4 3 2 1 0 1 2 3 4 5 6 7 8

b. 5+(2)=_—7 . ——1

N A EERE RN

¢ —4-(3)=_ =\

~
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2. Find each sum or difference:

a. ‘12+7=-5 b, 8+(4)=—\ 2L ¢ 16+(8)=_2

d. (-8)—(2)= "‘{ e. (7)-4=~—]|| f.o8-(7n=_15_

Level 2:

3. Find each sum, difference, or missing number:

a. 9+(2)=_— Il b. -19+_% =-16 o 4+ |2 -8

d. 12+ £02) = 24 e. F12)+12=0 f.o—ax3)+7=_ 0O
g. —14+3+[-2)="l3 h. (-8)+(-2)+14= L( i. 34+(-12)+4= 26
i 38-(17)= 55 k. (-16)-(-36) = 20 L (6)-24==30

m. 20- 2% =-8 n. 12-_\-2)=14 0. 3-3 =-6

p. 16-(13)-(5)= 34 a (N-(29=_"Y_

4, The temperature in Anchorage, Alaska was 8°F in the morning and dropped to -5°F in the evening. What is the
difference between these temperatures? You must draw a diagram to receive full credit for this problem.

- Finok _wkal = dhifevernen

%‘ g (~s)- (+8)

= x (-€= —3° e RWPVJ&EY{

-S'F 4 —13°F
Level 3: JT ‘:seﬂ\ ANPIPQ
5. Evaluate: J\‘(UP
a. (3)+12-6+(-18)= —|S b. (-3)+5+(-5)+12 = 4—0’
¢ (11)-8+1-(6)= —|7 d. 10-(-10)-7-5=
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6. Evaluate and put into simplest terms:

a. 58+(25)= +3.7%

b. 1.8-(35)= 5§ 73
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Show your work for the problems below:

7. InBuffalo, New York, the temperature was -14°F in
the morning. If the temperature dropped 7°F, what is
the temperature now?

-y —(3)= = 21°F

ANSWERS:
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Metal mercury at room temperature is a liquid. Its
melting point is -39°C. The freezing point of alcohol is -
114°C. How much warmer is the melting point of
mercury than the freezing point of alcohol?

340 = (utC)
= e C




